

Potenzgesetze – Kurzübersicht

Tobias Krähling
eMail: <Tobias.Kraehling@semibyte.de>
Homepage: <www.semibyte.de>

28.11.2010
Version 1.3

$$a^1 = a \quad a^0 = 1$$

$$0^n = 0 \quad 1^n = 1$$

$$a^b = \frac{1}{a^{-b}} \quad a^{-b} = \frac{1}{a^b}$$

$$a^{-1} = \frac{1}{a} \quad a = \frac{1}{a^{-1}}$$

$$a^b = e^{b \ln(a)}$$

$$\sqrt[n]{a} = a^{\frac{1}{n}} = a^{n^{-1}}$$

$$\frac{1}{\sqrt[n]{a}} = a^{-\frac{1}{n}} = a^{-n^{-1}}$$

$$xa^b \pm ya^b = [x \pm y] a^b$$

$$a^b a^c = a^{b+c}$$

$$\frac{a^b}{a^c} = a^b a^{-c} = a^{b-c}$$

$$a^x b^x = (ab)^x$$

$$\frac{a^x}{b^x} = a^x b^{-x} = (ab^{-1})^x$$

$$(a^b)^c = a^{bc}$$

$$\sqrt[n]{a} \sqrt[n]{b} = \sqrt[n]{ab} = a^{n^{-1}} b^{n^{-1}} = (ab)^{n^{-1}}$$

$$\frac{\sqrt[n]{a}}{\sqrt[n]{b}} = \sqrt[n]{\frac{a}{b}} = \frac{a^{n^{-1}}}{b^{n^{-1}}} = \left[\frac{a}{b}\right]^{n^{-1}} = [ab^{-1}]^{n^{-1}}$$

$$\sqrt[n]{a} \sqrt[m]{a} = \sqrt[mn]{a^m} \sqrt[mn]{a^n} = \sqrt[mn]{a^{m+n}} = a^{\frac{m+n}{mn}}$$

$$\frac{\sqrt[n]{a}}{\sqrt[m]{a}} = \frac{\sqrt[mn]{a^m}}{\sqrt[mn]{a^n}} = \sqrt[mn]{a^{m-n}} = [a^{m-n}]^{(nm)^{-1}}$$

$$[\sqrt[n]{a}]^m = \sqrt[mn]{a^m} = [a^{m^{-1}}]^m = [a^n]^{m^{-1}}$$

$$\sqrt[m]{\sqrt[n]{a}} = \sqrt[mn]{a} = (a^{n^{-1}})^{m^{-1}} = a^{(nm)^{-1}}$$

$$a^{\frac{m}{n}} a^{\frac{p}{q}} = a^{\frac{mq+np}{nq}}$$

$$a^{\frac{m}{n}} \left[a^{\frac{p}{q}} \right]^{-1} = a^{\frac{mq-np}{nq}}$$

$$a^{\frac{m}{n}} b^{\frac{m}{n}} = (ab)^{\frac{m}{n}} = (ab)^{mn^{-1}}$$

$$a^{\frac{m}{n}} \left[b^{\frac{m}{n}} \right]^{-1} = (ab^{-1})^{\frac{m}{n}} = (ab^{-1})^{mn^{-1}}$$

$$\left[a^{\frac{m}{n}} \right]^{\frac{p}{q}} = a^{\frac{mp}{nq}} = a^{mp(nq)^{-1}}$$